MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

Application info

MERCEDES-BENZ BM 210 (E-Class) (06/95-03/03)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
FIAT
PEUGEOT

Application info

CITROEN Jumper | (02/94-04/02)
CITROEN Jumper Il (02/02-06/06)
FIAT Ducato (230) (03/94-04/02)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
246

M16x1,5

M14x1,5

2103380415

Reinforced Version
Front Axle Left
Front Axle Right
315

M16x1,5

M16x1,5

14716 540 80
9945836
4018.A4

016 030 0001/HD

(D) 11-16 030 0008/HD

FIAT Ducato (244) (04/02-07/06)
PEUGEOT Boxer | (03/94-04/02)
PEUGEOT Boxer Il (04/02-09/09)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Axial rod (0) 11-16 031 0012/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 255 ----—:,,——r-»-m—--—h
Thread Measurement 1 M16x1,5 &
Thread Measurement 2 M16x1,5
References
CITROEN 1610976380

4001 A1

4001 E5
FIAT 1359226080
PEUGEOT 1610976380

4001 A1

4001 E4

4001 E5

Application info

CITROEN Jumper lIl (04/06--) PEUGEOT Boxer IlI (04/06--)
FIAT Ducato (250) (07/06--)

Axial rod () 11-16 031 0014/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 225 ﬂ"":"“:’W
Thread Measurement 1 M10x1 -
Thread Measurement 2 M14x1,5
References
PEUGEOT 16 08 025 380

Application info

CITROEN C4 Cactus (09/14--) PEUGEOT 208 (03/12--)
PEUGEOT 2008 (03/13--)

Wulf Gaertner Autoparts AG - www.meyle.com 2

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT
TOYOTA

Application info

CITROEN C1 (06/05--)
PEUGEOT 107 (06/05--)

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2

References
SEAT

SKODA
SKODA (SVW)

VW

VW (SVW)

Application info

SEAT Ibiza IV / Cordoba (02/02-11/09)
SKODA Fabia | (08/99-03/08)

SKODA Roomster (03/06-03/10)
SKODA (SVW ) Fabia (12/08--)

Wulf Gaertner Autoparts AG - www.meyle.com

() 11-16 031 0034/HD

Reinforced Version

Front Axle Left

Front Axle Right \ _

225 T | —— ..
M14x1,5

M12x1,25

4001.33
4001.33
45500-0H010

TOYOTA Aygo (07/05-08/10)

116 031 0017/HD

Reinforced Version

Front Axle Left

Front Axle Right

el o G-
M14x1,5

M14x1,5

for vehicles with power steering

6Q0 423 803 P
6Q0 423 804 P
6Q0 423 803 P
6Q0 423 804 P
6Q0 423 803 P
6Q0 423 804 P
6Q0 423 803 P
6Q0 423 804 P
6RG423810A
6Q0 423802 E
6Q0 423 804 E

VW Fox/Lupo Z51 (10/03--)

VW Polo (9N_) (10/01-11/09)

VW (SVW) New Polo (06/06-03/12)
VW (SVW) Polo (01/02-03/06)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

VW

Application info
MERCEDES-BENZ BM 906 (Sprinter I) (06/06--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
AUDI

SEAT

VW

Application info

AUDI A1 (8X1, 8XA) (05/10-)
AUDI A2 (820) (02/00-08/05)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)

Wulf Gaertner Autoparts AG - www.meyle.com

116 031 0019/HD

Reinforced Version
Front Axle Left
Front Axle Right
400

M18x1,5

M16x1,5

906 460 01 55
906 460 00 55
2E0 713 491

VW Crafter (04/06-07/11)
116 031 0029/HD

Reinforced Version
Front Axle Left
Front Axle Right
314

M14x1,5

M14x1,5

w;m ==

6R0 423 803D
6R0 423804 D
870423803 F
820423 804 F
6R0 423 803 A
6R0 423 803 C
6R0 423 804 A
6R0 423 804 C
6R0 423 803 A
6R0423 803 C
6R0 423 803D
6R0 423 804 A
6R0 423 804 C
6R0 423804 D

SEAT TOLEDO IV (KG3) (07/12--)
SKODA Rapid Il (NH) (07/12--)
VW Polo (6R_) (06/09-01/11)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

MAZDA
RENAULT

Application info

MAZDA 2 (DE) (10/07--)
RENAULT Mégane Il (11/02-01/11)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
NISSAN

RENAULT

Application info
NISSAN Micra (K12) (01/03-06/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
215

M14x1,5

M14x1,5

D653-32-240
7701474448

Reinforced Version
Front Axle Left
Front Axle Right
309

M14x1,5

M14x1,5

48001AX702
48001AY612
48001BC43A
48001BC46A
7701475841

(0) 16-16 031 0013/HD

RENAULT Scénic Il (06/03-04/09)

(H0) 16-16 031 0033/HD

RENAULT Clio Ill / Modus (09/04-08/10)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2
References

RENAULT

Application info

RENAULT Clio Il / Thalia (02/98-02/10)

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2
References

RENAULT

Application info

RENAULT Clio Il / Thalia (02/98-02/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
236

TRW

M14x1,5

M14x1,5

7701471143
7701471144

Reinforced Version
Front Axle Left
Front Axle Right
291

TRW

M14x1,5

M14x1,5

7701472734
7701472735

(0) 16-16 031 0035/HD

(0) 16-16 031 0036/HD

@: o T —

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]

Thread Measurement 1
Thread Measurement 2
References

GENERAL MOTORS
NISSAN

OPEL

RENAULT
VAUXHALL

Application info

NISSAN Primastar (03/01--)
OPEL Vivaro (08/01--)

OPEL Vivaro B (06/14--)
RENAULT Trafic | (03/80-03/01)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
DACIA

Application info
DACIA Duster (04/10--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
263

M12x1

M14x1,5

91160037*
48520-00QAM
44,08 474%
7701473333
4408 474*

Reinforced Version
Front Axle Left
Front Axle Right
205

M16x1,5

M14x1,5

8201108350

(D) 16-16 031 0037/HD

RENAULT Trafic Il (03/01-07/03)
RENAULT Trafic Il (05/14--)
VAUXHALL Vivaro (08/01-12/06)
VAUXHALL Vivaro B (05/14--)

(H0) 16-16 031 0038/HD

S————

RENAULT Duster (06/09--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
RENAULT

Application info
RENAULT Twingo Il / Wind (03/07--)
Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
FIAT

FORD

Application info
FIAT 500 (10/07--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
300

M12x1

M14x1,5

7701477878

Reinforced Version
Front Axle Left
Front Axle Right
250

M14x1,5

M12x1,5

51786814
51786815
51875886
51875887
1541354
9S51-3A500-AA

FORD KA 11 (10/08--)

() 16-16 031 0039/HD

0) 216 031 0026/HD

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Axial rod 0) 216031 0027/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 296 * - g - v
Thread Measurement 1 M16x1,5 g ———
Thread Measurement 2 M16x1,5

for vehicles with power steering
References
FIAT 98845026
Application info
FIAT Doblo (119, 223) (03/01-01/10)
Axial rod #0) 216031 0028/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 330 @::m-w
Thread Measurement 1 M16x1,5
Thread Measurement 2 M14x1,5
References
FIAT 98845024

Application info

FIAT Doblo (119, 223) (03/01-01/10)

Axial rod 0) 216031 0029/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mml 252 ‘m‘m’-w
Thread Measurement 1 M14x1,5 = e
Thread Measurement 2 M12x1,5
References
LANCIA 51706968
51832250
51893013
77362380
Application info
LANCIA Ypsilon (843) (10/03-12/11)
Wulf Gaertner Autoparts AG - www.meyle.com 9

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
CITROEN

FIAT
LANCIA
PEUGEOT

Application info

CITROEN Nemo (02/08--)
FIAT Croma | (12/85-12/96)
FIAT Fiorino Nuovo (11/07--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
KIA

Application info
KIA Rio | (08/00-02/05)

Wulf Gaertner Autoparts AG - www.meyle.com

) 216 031 0030/HD

Reinforced Version
Front Axle Left
Front Axle Right

272 ﬂm._- o
M14x1,5

M14x1,5

4001 K6
4001 NZ
4001 PA
4001.77
9940260
9940260
4001 77
4001 K6
4001 NZ
4001 PA

FIAT Linea (06/07--)
LANCIA Thema | (11/84-07/94)
PEUGEOT Bipper (02/08--)

(0) 28-16 031 0023/HD

Reinforced Version
Front Axle Left
Front Axle Right

279 # g B ——e ]
M16x1,5

M12x1,25

KDX53 32240B

10

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod (0) 28-16 031 0025/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 170
Thread Measurement 1 M18x1,5
Thread Measurement 2 M14x1,5
References
KIA 57731 3E010

Application info
KIA Sorento | (08/02--)

57732 3E010

Axial rod () 28.16 031 0026/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 290 G - 2 a
Thread Measurement 1 M16x1,5
Thread Measurement 2 M12x1,25
References
KIA 57724 07000
Application info

KIA Picanto | (04/04--)

Axial rod (A0) 30-16 031 0029/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 305 o =nmr—r——iam
Thread Measurement 1 M14x1,5
Thread Measurement 2 M16x1,5
References
TOYOTA 45503-0F010

Application info

TOYOTA Avensis (T25) (04/03-11/08) TOYOTA Corolla Verso (03/04-03/09)

Wulf Gaertner Autoparts AG - www.meyle.com 1

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HONDA

Application info
HONDA Accord IX (06/08-12/08)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
BMW

BMW (BRILLIANCE)

Application info

BMW 5 (E60, E61) (07/03-08/10)
BMW 6 (E63, E64) (01/04--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
122

M18x1,5

M14x1,5

53010-SDA-AO01

Reinforced Version
Front Axle Left
Front Axle Right
239

M18x1,5

M16x1,5

32106777 479*
32216777 451*
32106777 479*
32216777 451*

(0) 31-16 031 0009/HD

| K

HONDA Accord VIII (02/03-12/08)

(D) 316 0310017/HD

BMW (BRILLIANCE) 5 Series (E60) (03/03-09/10)

12

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2

References
BMW

BMW (BRILLIANCE)

Application info

BMW 1 (E81, E82, E87, E88) (11/03-09/12)
BMW 3 (E90, E91, E92, E93) (01/05-05/12)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MAZDA

Application info
MAZDA MX-5 (NC) (03/05--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MAZDA

Application info
MAZDA MX-5 (NC) (03/05--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
246

TRW

M18x1,5

M14x1,5

32216762243
32216762244
32216762243
32216762 244*

Front Axle Left
Front Axle Right
234,5

16x1

14x1,5

NE51-32 240

Reinforced Version
Front Axle Left
Front Axle Right
234,5

16x1

14x1,5

NE51-32 240

D) 316031 0018/HD

Ps====

BMW X1 (E84) (03/09--)
BMW (BRILLIANCE) 3 Series (E90) (01/05-09/12)

35-16 031 0004

(h0) 35.16 031 0029/HD

13

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
NISSAN

RENAULT

Application info

NISSAN Qashqai | (02/07--)
NISSAN X-Trail (T31) (03/07--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HYUNDAI

Application info
HYUNDAI ix35 (08/09--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HYUNDAI

Application info
HYUNDAI {10 (12/07--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
233

M22x1,5

M14x1,5

48001-JD900
D8521-JD00B
485219204R

Reinforced Version
Front Axle Left
Front Axle Right
173

M16x1,5

M16x1,5

57724-25000

Reinforced Version
Front Axle Left
Front Axle Right
300

M16x1,5

M12x1,25

57724-0X000

(D) 36-16 031 0020/HD

i,

————

ﬂ - -

RENAULT Koleos (09/08--)

() 37-16 031 0020/HD

e D

() 37.16 031 0021/HD

@1 e —

14

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT

Application info

CITROEN C2/ C3 1/ Pluriel (02/02-09/05)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT

Application info
CITROEN C Elyse (11/12--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
CHRYSLER

Application info
CHRYSLER Neon Il (08/99-12/06)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left
Front Axle Right
238,5

M12x1

M16x1,5

3812.E6
3812.E6

Reinforced Version
Front Axle Left
Front Axle Right
230,5

M12x1

M16x1,5

16 08 652 180
1608 652 180

Reinforced Version
Front Axle Left
Front Axle Right
289,5

M14x1,5

M14X1,5

5272500AE*

(0) 40-16 031 0000/HD

A )

PEUGEOT 1007 (04/05--)

(0) 40-16 031 0001/HD

o<

PEUGEOT 301 (11/12-)

(A0) 44-16 031 0002/HD

IG;::.-.L.._::.:E'.%_

CHRYSLER PT Cruiser (06/00-12/10)

15

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

FORD
VOLVO

Application info

FORD C-Max | (02/07--)
FORD Focus Il (10/03-09/08)
FORD Kuga (03/08--)

Axial rod

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
LAND ROVER

Application info
LAND ROVER Discovery lIl (07/04-09/09)

Axial rod

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
LAND ROVER

Application info
LAND ROVER Discovery Il (07/04-09/09)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
294

M14x1,5

M16x1,5

1510270
31201817

Reinforced Version
Front Axle

inner

375

53-16 031 0006/HD
M20x1,5

M16x1,5

QFK500020

Reinforced Version
Front Axle

inner

375

53-16 031 0005/HD
M16x1,5

M16x1,5

QFK500010

0) 516031 0004/HD

*;.m.._-_.ag_u._n.gh-

VOLVO C30 (10/06-12/12)
VOLVO C70 11 (03/06--)
VOLVO S4011/V50 (01/04--)

(0) 53-16 031 0005/HD

cﬂ‘,_...,,u..&_‘.,ﬁ. — ]

LAND ROVER Discovery IV (09/09--)

() 53.16 031 0006/HD

@._--—w-““_ S

LAND ROVER Discovery IV (09/09--)

16

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016
Axial rod 0) 616031 0031/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 293 o = h
Thread Measurement 1 M14x1,5
Thread Measurement 2 M14x1,5
References
GENERAL MOTORS 93189022
93196540
OPEL 16 03 543
16 09 456
VAUXHALL 16 03 543
16 09 456
Application info
ALFA ROMEO Mito (09/08--) OPEL Corsa D (07/06--)
FIAT Grande Punto (10/05-07/12) VAUXHALL Combo Mk 1l (07/06--)
FIAT Punto Evo (07/08-03/12) VAUXHALL Corsa Mk Il (07/06-03/12)
Axial rod #0) 616 031 0032/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right _
Length [mm] 350 e )
Thread Measurement 1 M16x1,5
Thread Measurement 2 M14x1,5
for vehicles with hydraulic power steering
References
CHEVROLET 95932789
GENERAL MOTORS 95932789
OPEL 16 09 205
VAUXHALL 16 09 205
Application info
CHEVROLET Trax (12/12--) VAUXHALL Mokka (06/12--)
OPEL Mokka (06/12--)
Wulf Gaertner Autoparts AG - www.meyle.com 17

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod 0) 616031 0033/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 290 4 Sl SN/ A | I
Thread Measurement 1 M14x1,5 @!— = *
Thread Measurement 2 M14X1,5
References
OPEL 16 09 211
VAUXHALL 1609 211

Application info

OPEL Adam (10/12--)
OPEL Corsa E (09/14--)

VAUXHALL Adam (10/12--)
VAUXHALL Corsa Mk IV (08/14--)

Axial rod (0) 616 031 0034/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 284 N B O O 0 |

T IT—JH'P—*_-_-

Thread Measurement 1 M18x1,5 1""—'@"'- e
Thread Measurement 2 M14x1,5
References
GENERAL MOTORS 93187434

93191672
OPEL 1603 384

1603416
VAUXHALL 16 03 384

1603416
Application info
FIAT Croma Il (06/05--) VAUXHALL Vectra Mk Il / Signum (01/00-10/08)
OPEL Vectra C/ Signum (04/02-09/08)
Wulf Gaertner Autoparts AG - www.meyle.com 18

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Axial rod #0) 616031 0035/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 289 @“mr T D
Thread Measurement 1 M18x1,5
Thread Measurement 2 M14x1,5
References
GENERAL MOTORS 93187435
OPEL 16 03 290
VAUXHALL 16 03 290
Application info
OPEL Vectra C/ Signum (04/02-09/08) VAUXHALL Vectra Mk Il / Signum (01/00-10/08)
Axial rod #0) 616 031 0036/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 308 @:Wm-w-ﬁh
Thread Measurement 1 M18x1,5
Thread Measurement 2 M16x1,5
References
BUICK (SGM) 13271996
GENERAL MOTORS 13271996
OPEL 66 06 030
VAUXHALL 66 06 030
Application info
BUICK (SGM) Regal Il (12/08--) VAUXHALL Insigna (07/08-09/13)
OPEL Insignia (07/08--)
Wulf Gaertner Autoparts AG - www.meyle.com 19

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CHEVROLET
GENERAL MOTORS
OPEL

VAUXHALL

Application info

CHEVROLET Cruze (J300, J305) (07/00-09/08)
CHEVROLET Cruze (J308) (08/12--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
FORD

MAZDA

Application info

FORD B-MAX (10/12--)
FORD Fiesta VI (06/08--)
FORD Tourneo (12/12--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
290

M16x1,5

M16x1,5

0) 616 0310037/HD

-
—
" e

for vehicles with electro-hydraulic steering

13278358
13278358
920005
920007
920005
920007

Reinforced Version
Front Axle Left
Front Axle Right
289

M14x1,5

M14x1,5

1545 457
8V51-3L519-AA
D651-32-240

OPEL Astra J (12/09--)
VAUXHALL Astra Mk VI (12/09--)

(0) 716 031 0016/HD

FORD Transit Courier (02/14--)
MAZDA 2 (DE) (10/07--)

20

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016
Axial rod #0) 716031 0017/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 289 @MAMJ/M_
Thread Measurement 1 M14x1,5
Thread Measurement 2 M16x1,5
References
FORD 1780104
AV6C-3L519-AA
1714484
AV6C-3L519-BA
VOLVO 31317779
Application info
FORD C-Max Il (12/10--) FORD Tourneo (12/12--)
FORD Focus Il (04/11--) FORD Transit 13 (09/13--)
FORD Kuga Il (01/13--) VOLVO V40 11 (03/12--)
Axial rod ) 716031 0018/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 292 ngm
Thread Measurement 1 M14x1,5
Thread Measurement 2 M16x1,5
References
FORD 1251937
1377 655
VOLVO 30776283
Application info
FORD C-Max | (02/07--) VOLVO C30 (10/06-12/12)
FORD Focus Il (10/03-09/08) VOLVO C70 11 (03/06--)
FORD Kuga (03/08--) VOLVO S40 11/ V50 (01/04--)
Wulf Gaertner Autoparts AG - www.meyle.com 21

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
FORD

Application info
FORD Focus Il (04/11--)

Axial rod

Notes

Length [mm]

Thread Measurement 1
Thread Measurement 2
References

FORD

Application info

FORD Tourneo (12/12--)
FORD Transit 14 (05/14--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

AUDI
SEAT
SKODA
VW

Application info

AUDI A1 (8X1, 8XA) (05/10-)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

Wulf Gaertner Autoparts AG - www.meyle.com

#0) 716 031 0019/HD

Reinforced Version

Front Axle Left

Front Axle Right

300

M14x1,5

M16x1,5

for vehicles with hydraulic power steering

T T

1754076

() 716 031 0020/HD

Reinforced Version

Front Axle Left

Front Axle Right

382 @.: , . Pr—
M16x1,5

M16X1,5

1763991

FORD Transit Custom (12/12--)

116 020 0009

Front Axle Left
94

116 0200010
M12X1,5
M14x1,5

6C0423811A
6C0423811A
6C0423811A
6C0423811A

SKODA Fabia 1l (08/14--)
SKODA Rapid Il (NH) (07/12--)
VW Polo (6R_) (06/09-01/11)

22

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Tierod end

Notes

Front Axle Right
Length [mm] 94
Paired article numbers 116 020 0009
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
SEAT 6C0423812A
SKODA 6C0423812A
VW 6C0423812A

Application info

AUDI A1 (8X1, 8XA) (05/10--)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

Tierod end

Notes
Reinforced Version
Front Axle Right
Length [mm] 94
Paired article numbers 116 020 0041/HD
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
SEAT 6Q0423812C
6R0 423 812
SKODA 6Q0423812C
6R0 423 812
SKODA (SVW) 6R0 423 812
VW 6Q0423812C
6R0 423 812
VW (FAW) 6Q0423812C
VW (SVW) 6R0 423 812
Application info

SEAT Ibiza IV / Cordoba (02/02-11/09)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

SKODA Fabia | (08/99-03/08)

SKODA Fabia Il (12/06--)

SKODA Rapid Il (NH) (07/12--)

SKODA Roomster (03/06-03/10)

SKODA (SVW ) Fabia (12/08--)

Wulf Gaertner Autoparts AG - www.meyle.com

116 020 0010

SKODA Fabia Ill (08/14--)
SKODA Rapid Il (NH) (07/12--)
VW Polo (6R_) (06/09-01/11)

116 020 0040/HD

T

_

SKODA (SVW) Rapid (Na2) (04/13--)
VW Fox/Lupo Z51 (10/03--)

VW Polo (6R_) (06/09-01/11)

VW Polo (9N_) (10/01-11/09)

VW (FAW) Jetta Night (03/13--)

VW (SVW) New Polo (06/06-03/12)
VW (SVW) Polo (01/02-03/06)

VW (SVW) Santana lll (12/12--)

23

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

AUDI
VW

Application info
AUDI A1 (8X1, 8XA) (05/10-)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

AUDI
VW

Application info
AUDI A1 (8X1, 8XA) (05/10--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2
References

AUDI
VW

Application info
AUDI A1 (8X1, 8XA) (05/10--)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Right
Outer

94

116 020 0043
M12x1.5
M14x1.5

6R0423812A
6R0423812A

Reinforced Version
Front Axle Right
Outer

94

116 020 0043/HD
M12x1.5

M14x1.5

6R0423812A
6R0423812A

Front Axle Left
Outer

94

116 020 0042
M12x1.5
M14x1.5

6R0423811A
6R0423811A

116 020 0042

VW Polo (6R_) (06/09-01/11)

116 020 0042/HD

VW Polo (6R_) (06/09-01/11)

116 020 0043

VW Polo (6R_) (06/09-01/11)

24

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Tie rod end 116 020 0043/HD
Notes

Reinforced Version

Front Axle Left

Outer
Length [mm] 94
Paired article numbers 116 020 0042/HD
Thread Measurement 1 M12x1.5
Thread Measurement 2 M14x1.5
References
AUDI 6R0423811A
VW 6R0423811A
Application info
AUDI A1 (8X1, 8XA) (05/10--) VW Polo (6R_) (06/09-01/11)
Wulf Gaertner Autoparts AG - www.meyle.com 25

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

